AP Physics  - RC Circuit
Capacitors:
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     Symbol  for capacitor
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Parallel Combination:
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Total charge is: 
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V   is same  for all capacitors in parallel
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Find the equivalent capacitance for this circuit, the charge on the 1.85 (F capacitor, and the total charge in all the capacitors.
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Series Combination:


[image: image8.wmf]12

1111

eqn

CCCC

=++×××+


(V  across capacitors may be different

Q for each is the same.
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 Find the equivalent capacitance for this circuit, the total charge in all the capacitors, and the charge on the 2.85 (F capacitor.
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RC  Circuits:

Takes time to charge a resistor

Charges to maximum equilibrium value
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· (  Max voltage across capacitor

Once capacitor is charged, current is zero.

At 

t = 0,   current flows
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